CAST PUZZLE

THE NEWTYPE PUZZLE RING Key to Cricket
1. This is the starting position. 2. Firstly, turn the racket over to 3.Pass the racket throughthe cutout
the position below. in the middle stump so it is in the

position below, then use the cutout
to pass knob B to the left.
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4.Then move knob C to the left in 5.In this position, turn the racket 6. Move knob D through the cutout
the same way. over again resulting in the position in the middle stump and to the
in the diagram below. right.
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7.While sliding the racket down, pass it through to 8. Finally, if you pass knob E and then knob D through
the left as shown below. the cutout in the middle stump, you can separate

them.
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(To our customers)
‘We provide this ex] tory diagram as a key to the puzzle. Due to Hanaya I I HANAYAMA Co.. Ltd
the nature of the 'ts, we cannot provide any explanations over i - - *

the telephone. Thank you for your understanding. Unauthorized duplication is prohibited.



